




Figure 4.14 The Krebs Cycle 

The Krebs cycle breaks down citric a cid and 
transfers energy to the elctron transport chain. 

0 Pyruvate (from glycolysis)
i5 broken down. 
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0 Coenzyme A bonds to the 
two-carbon molecule. This 
intermediate molecule enters 
the Krebs cycle. 
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f) Citric acid is formed.
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Infer: Does glycolysis directly produce as much ATP 
as the Krebs cycle? Indirectly? Explain your answer. 
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cl The Krebs cycle takes place in 
the mitochondrion matrix. 
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""" molecule is broken 

down. NADH and 
ATP are made. 

0 The four-carbon molecule is
rearranged. NADH and FADH1 

are formed 

The products from the breakdown of one molecule of pyruvate are 

• three molecules of carbon dioxide that are given off as a waste product
• one molecule of ATP
• four molecules of NADH to the electron transport chain
• one molecule of FADH

2 
to the electron transport chain

Remember, glycolysis produces two pyruvate molecules. Therefore, the

products above are half of what com.es from one glucose molecule. The totals 

are six carbon dioxide, two ATP, eight NADH, and n.vo FADH2 molecules. 

In what two ways is the Krebs cycle important for making ATP? 
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